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RY) The following particulars are availare from one books of Shankti Sangha. Prepare a Receipts
and Payments account for the ended 31st March, 2020.



Particular Rs. Particular Rs.

Cash in hand 280 Donation 1000
Subscription 3,000 Electricity 135
Admission Fee 200 Rent paid in Advance 100
Salaries 1,700 Sports Material 300
Rent 1,300 Entertainment Expenses 60
Purchases of Furniture from

Dey & Sons 800

Sale of old News paper 205

Paid to Dey & Sons 300 Salaries outstanding 180

* Y
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R%) Calculate Current ratio and Quick ratio from the following information :
Inventories Rs. 50,000; Trade receivable Rs. 50,000
Advance Tax Rs. 4000; Cash and cash equivalents Rs. 30,000
Bills payable Rs. 1,00,000; Bank overdraft Rs. 4000.
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R4)From the following information prepare a suitable comparative statement of Profit & Loss for the
year ended 31st March 2020.

Particular 31.3.2019 31.3.2020
Revenue from operation 10,00,000 13,00,000
Employees benefit Expenses 5,00,000 8,00,000
Other Expesses 2,00,00 1,20,000
Tax Rate 40%
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Receipts Rs. Payments Rs.
To Balance b/d 3,800 By Sports Equipments 10,000
Subcription: 2018 1,000 (Purchased on 1.9.2019)
2019 18,500 Salaries & wages 3,000
2020 1,200 Printing 300
Interest on Govt. Electricity 500
Securities @ 5% Tournament Expresses 6,500
on cost 500
Entrance Fees 2500 Balance c/d 7,200
27,500 27,500
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Liabilities Rs. Assets Rs.
Capital Accounts X 1,50,000 Machinery 2,40,000
Y | 90,000 Furniture 46,000
Z | 60,000 Stock 30,000
General Reserve 60,000 Debtors 75000
Sundry Creditors 40,000 Less : Provision for
Doubtful debtful 6000 69,000
4,00,000 Cash at Bank 15,000
4,00,000
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Rs.
Revenue from operation 25,20,000
Net Profit 3,60,000
Cost of Revenue from Operation 19,220,000
Long term Debts 9,00,000
Trade Payables 2,00,000
Average Inventory 8,00,000
Current Assets 7,60,000
Fixed Assets 14,40,000
Current liabilities 6,00,000

Net profit before Interest & Tax  §,00,000
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Liabilities Rs. Assets Rs.
Sundry Creditors 88,000 Cash in hand 16,500
Workmen’s Compensation Fund 20,000 Sundry Debtors 50,000
Outstanding Expesses 10,000 Bills Receivables 8000
Capital Accrents Stock 30,000

A 54,000 Furniture 25,500
B: 36,000 Land & Building 60,000
2,08,000 Profit & Loss A/c 18,000

2,08,000
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MODEL QUESTION

Class - XII : Accountancy : 80 Marks : 2020-2021

Group-A : Each Question Carries 1 Mark : 1x20
A) Choose the correct option :  1x5

1. Main source of income of non profit-organisation are —
a) subcription of the members.
b) Grants-in-aid
¢) Income from Investment

d) All of the above.
2. The current account of partners are to be opened when capital account is under —
a) Fixed Method (b) Both fixed and Fluctuating Method
(c¢) Fluctuating Method (d) All of the above.

3. Causes of reconstruction of partnership firm is —
a) admission of new partner
b) Retirement of a partner
c) Death of partner
d) All of the above.

4. x, y and z are partners sharing profit in the ratio of 3:2:1. y retired. The new profit sharing ratio

between x and z will be —
a) 1:1 (b) 3:1 (c) 5:3 (d) 2:1
5. Sacrificing ratio is —
a) New ratio (b) Old ratio (c) New ratio - Old ratio (d) Old ratio - New ratio.

B) Answer the following question in one word/ sentence : 1x15

6. What is the main objective of the non-profit organisation ?
7. What is partnership seed ?

8. What is distributable profit ?

9. Why sacrificing ratio is calculated in a partnership business ?
10. What is hidden good will ?

11. What is authorised capital ?

12. What is sacrificing ratio ?

13. What is financial statement ?

14. What is balance sheet ?

15. What is common size statement ?

16. What is Partnership Capital ?

17. What is nominal capital ?

18. What is ratio ?

19. What is solvency ratio ?

20. What is goodwill ?



Group-B : Each Questions Carries 3 Marks : 3x2=6
21. The following particulars are available from one books of Shankti Sangha. Pepare a receipts and
payments account for the year ended 31st March, 2020.

Particular Rs. Particular Rs.

Cash in hand 280 Donation 1000

Subscription 3,000 Electricity 135

Admission Fee 200 Rent paid in Advance 100

Salaries 1,700 Sports Material 300

Rent 1,300 Entertainment Express 60

Purchases of Furniture from

Dey & Sons 800

Sale of old News paper 205

Paid to Dey & Sons 300 Salaries outstanding 180
* OR

Write the differences between Income and Expenditure Account and Profit & Loss Account.
22. Calculate Current ratio and Quick ratio from the following information :
Inventories Rs. 50,000; Trade receivable Rs. 50,000
Advance Tax Rs. 4000; Cash hand cash equivalents Rs. 30,000
Bills payable Rs. 1,00,000; Bank overdraft Rs. 4000.
*OR
Write the advantage of ratio analysis.

Group-C:  Each Question Carries 4 Marks : 4x5=20

23. Amal and Bimal are partners is a firm sharing profit & loses in the ratio of 2:3. On 1st April 2019

their capitals were Rs. 60,000 and Rs. 80,000 repectively. They earned profit of Rs. 45,000 during

the year. According to Partnership Deed both partners are entitled to monthly salary @ 2% of their

invested capital and Interest on capital @ 6% p.a. Prepare partners Capital A/c under Fixed method.
* OR

Arup and Anup are partners in a firm sharing profit-losses in the ration of 4:1 on 1st April 2019 Their

capital were Rs. 1.50.000 and Rs. 1,20,000 respectively. The Profits Loss A/c of the firm for year

ended 31st march 2020 showed a net profit-of Rs. 2,20,500 you are requried to prepare Profit &

Loss Appropriation account of the firm after taking into consideration the following adjustments—

1) Inerest on Capital @ 6%p.a

i1) Interest on Arup’s Loan A/c of Rs. 1,00,000 for the whole year .

111) Inerest on drawings of partners at 6% p.a. Drawings were, Arup Rs. 30,000, Anup Rs. 20,000.

1v) Anup is to receive commission @ 5% on net profit after such commission.

v) Transfer 10% of the distributable profit before distribution to the reserve fund of the firm.

24. x and y are partners in a firm sharing Profit & Losses in the ratio of 3:2. They take z into partnership
who will get 1/5th of the future profit. x and y will get profit as equal share. Find out the new Profit &
Loss sharing ratio and sacrificing ratio.



OR
A and B are sharing profit in the ratio of 3:2. They admit C for 20% share of profit. C pays necessary
amounts of goodwill. New profit sharing ratio is 2:2:1. Goodwill already appears at Rs. 6000. Goodwill
of the firm valued at Rs. 10,000. Give Journal entries in connection with Goodwill.

25. P, Q and R are partners sharing Profit & Losses in the ratio of 3:2:1 . Q retires and the goodwill is
valued at Rs. 1,05,000. P and R decides to share future profits in the ratio of 4:3.Give journal entires in
the books of P, Q and R when goodwill appears in the balance sheet at Rs. 42000.

26. X Ltd. forfeited 2000 shares of Rs. 100 each fas non payment of final call of Rs. 20 per share.
Application money of Rs. 30 per share and allotment money of Rs. 60 per share (in cluding premium of
Rs. 10 per share) was received by the company. Out of these forfeited shares, 800 shares were re-issued
at a discount of Rs. 10 per share.

Pass necessary Jounral entries in the books of the company for forfeiture and reissue of shares.

27) From the following information prepare a suitable comparative statement of Profit & Loss for the
year ended 31st March 2020.

Particular 31.3.2019 31.3.2020
Revenue from operation 10,00,000 13,00,000
Employees benefit Expenses 5,00,000 8,00,000
Other Expensses 2,00,00 1,20,000
Tax Rate 40%

* OR

Discuss the tools of Analysis of Financial Statement.

Group-D : Each Question Carries 6 marks : 6x3=18

28. Burdwan Cricket Club- prepared the following Receipts and Payments Account for the year ended
31st Dec. 2019

Receipts Rs. Payments Rs.
To Balance b/d 3,800 By Sports Equipments 10,000
Subcription: 2018 1,000 (Purchased on 1.9.2019)
2019 18,500 Salaries & wages 3,000
2020 1,200 Printing 300
Interest on Govt. Electricity 500
Securities @ 5% on cost [ 500 Tournament Expresses 6,500
Entrance Fees 2500 Balance ¢/d 7,200
27,500 27,500

Fixed asset of the club on 01.01.2019 included the followings. Sports equipments Rs. 15,500;
Clubs ground Rs. 7000, Furniture Rs. 200.

You are required to prepare Income and Expenditure Account for the year ended 31st Dec.



2019 and a Balance sheet as on that date after considering the following :
1) Subscription for 2019 collected in 2018 Rs. 500
11) Subscription for 2019 still to be collected Rs. 300.
111) Depreciation to be provided @ 20% p.a. on sprots equipment and @ 5% p.a. on furniture.
OR
Write the difference between non-profit-seeking organisation and profit seeking organisation.

29. x,y and z are partners sharing Profit & Losses in the ratio of 5:3:2 respectively. The Balance sheet
of the firm as on 31st Dec 2019 as follows :

Liabilities Rs. Assets Rs.
Capital Accounts X | 1,50,000 Machinery 2,40,000
Y | 90,000 Furniture 46,000
Z | 60,000 Stock 30,000
General Reserve 60,000 Debtors 75000
Sundry Creditors 40,000 Less : Provision for
Doubtful debtful 6000 69,000
4,00,000 Cash at Balance 15,000
4,00,000

Y retires on that date subject to the following conditions :
1) The goodwill of the firm valued at Rs. 60,000
i1) Furniture is to be depreciated by 10% and machinary is to be appreciated by 10%.
ii1) Provision for Doubtful debts is to be increased to Rs. 9000.
iv) Amount due to y is to be trnasferred to this Loan A/c.
v) X and Z agreed to continue the business and share the future profits and losses in the ratio of 3:2.
Show Revaluation Account and Partners Capital A/c.

30. From the follwoing information calculate :
1) Gross profit ration (ii) Inventory Turnover ratio
(ii1) Net profit ration  (iv) Working capital ration.

Rs.
Revenue from operation 25,20,000
Net Profit 3,60,000
Cost of Revenue from Operation 19,20,000
Long term Debts 9,00,000
Trade Payables 2,00,000
Average Inventory 8,00,000
Current Assets 7,60,000
Fixed Assets 14,40,000
Current liabilities 6,00,000

Not profit before Interest & Tax 8,00,000



OR
Write the significance of the following ratios
1) Debt equity ratio ii) Operating ratio (iii) Debtors turnover ratio.

Group-E : Each Question Carries 8 Marks : 8x2=16

31. A and B were partners in a firm sharing Profit& Losses in the ratio 3:2. They admit ‘M’ as a partner
on Ist January 2019 for 1/5th share of future profit. On the date of admission the Balance sheet of the

firm was as follows :

Liabilities Rs. Assets Rs.
Sundry Creditors 88,000 Cash in hand 16,500
Workmen’s Compensation Fund 20,000 Sundry Debtors 50,000
Outstanding Expenses 10,000 Bills Receivables 8000
Capital Accunnts stock 30,000

A 54,000 Furniture 25,500
B: 36,000 Land & Building 60,000
2,08,000 Profit & Loss A/c 18,000

2,08,000

Terms of M’s admissio are as follows :
1) Brought Rs. 27000 as capital.
i1) He also paid Rs. 12000 as premium for goodwill.
1i1) Claim on account of workmen’s compensation fund is Rs. 12000
iv) Furniture is to be appreciated by Rs. 3000 and value of stock to be reduced by 10%.
v) Make provision for bad debt @ 5% on debtors.
Pass necessary Journal entries and prepare new Balance sheet of the firm.
OR
1) Name the methods of computation of Goodwill.
1) What are the factors usually taken into consideration in computing the value of goodwill?
32. X Ltd. issued 20,000 equity shares of Rs. 100 each at 10% premium for public subscription. The
amount was payable per share as follows :
on application of Rs. 20, on allotment Rs. 60 (including premium) on 1st and Final Call Rs. 30.
Applications for 30,000 share were received and 20,000 shares only were duly allotted. The
application money on 5000 share were refunded. Exceass application money on 5000 shared were
adjustment on allotment dues. The company received all the calls money except 800 shares of 1st &
final call. These share were forfeited and re-issued at Rs. 90 per share.
Show necessary Journal entries in the books of the company.
OR

1) What is meant by Buy-back of shares ?
i1) Briefly explain what is meant by issue of share at par, at a premium and at a discount.

* Additional Question
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Model Questoin
Class-XII : Biology : 70 Marks : 2020-2021

Section-A Each Question carries 1 mark 1x20=20

Answer the following questions

1. What is exalbuminous seed ?

2.

Fill up the blanks male and female gametes are . (haplaid/diplaid)

3. All sexually transmitted diseases are curbe (yes/not).

4.

What is spermiation?

OR
What is colostrum ?
What do you mean by initiation codon ?
If a double stranded DNA has 562 nos. of cytosine, calculate the number of Guanine in
the DNA.
Among the given gasses, which one is a Test-crass?  (Write the correct answer)
(a) WWxww (b) Ww x Wx (c) Ww x ww (d) ww x ww

OR

Which one of the fallowing is a sexlinked recessive genetic disorder ? write the correct
one.
(a) Heamophilia (b) Thalassemia (c) Sickla all anemia (d) Phenylketonuria.
Cyanobacteria present in fuddy field help in fixation of . (Choose the correct one to
fill in the blanks) :
(a) Cu (b) Zn (c) N2 d) Mg,
Which one of the following is synthesized by the process of PCR ? Write the correct
answer.
a) DNA (b) Protein (c) Carbohydrate (d) RNA

10.Define biofertilizer.
11. State the use of trichaderma with respect to organ transplant.

12.BOD of two samples of water A and B were120 mg/L and 400mg/L respectively, which

sample 1s more polluted ?

13.Mention the source of smack.

14.Give the name of molicular seissors.

15.From which Bacterium Taq-polymerase in collected?

16.What is genetic engineering ?
17.Give the full form of ELISA.
18.In which plant senken stomata is found ?

19.What would be the growth pattern, when the resource are unlimited.

20. Name the interaction between sueker fish and shark.



Section-B Each Question Carries 2 makrs 2x8=16

21.Write the defination of linkage and recombination.

22.Whatdo you mean by semi conservative DNA duplication ?

23.What is endosperm ? What type of endosperm is found is coconut milk ?

OR

What is implants ? Write the full form of ZIFT.

24.What do you mean by with drawal syndrome ?

25.Write two difference between Active and passive immunity.

26.What do you mean by pBR322 ?

27.Write two difference between in-situ conservation and ex-situ conservation.

28.In a P and there are 20 lotus plants. Through reproduction 8 new lotus plants were added
in a year. calculate the birth rate of the population.

Section-C Each questions carries Marks 3 3x8=24

29.What is emasculation ? Why apple is called false fruit ?
OR
What is sertdi Cell? What are its functions.
30.What is mutation ? What do you understand by deletion mutation and point mutation ?
31.Write the structure of antibody.
OR
At what stage does plasmodium enter into a human body ? Show the stage in the life
cycle of the parasite in the infected person, with the help of flow-chart only. 1+2
32. What is biogas ? How it is produced ? 1+2
33. Write the causes of gradual decrease or lass of biodiversity.
34. What is allele ? Write 3(three) difference between Monohybrid cross and dihybreed
crosses.
35. What is Cry protin? Write its importance.

36. Describe the logistic population growth curve with suitable diagram. 2+1
Section-D Each Questions carries 5 Marks : 5x2=10
37.How fertilization occurs in human being ? What is cleavage ? How lactation occures ?

2+1+42
OR
Write the interactions between pollengrain and stigma and steps of development of
female gematophyte. 2+3
38. State the law of independent assertment of Mendel. Explain the law from a dihybrid
crass using cheeker board. 2+3
OR

Write three salient features of genetic code. Write practical application of DNA finger
printing. 3+2



MODEL QUESTION
Class - XII : Business Study : 80 Marks : 2020-2021
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MODEL QUESTION
Class - XII : Business Study : 80 Marks : 2020-2021

Part-A
Group-A : Each Question Carries 1 Mark : 1x11=11

1) Choose the right answer : Ix4
1. Management is —

a) An art (b) A Science (c) Both art and Science (d) Neither
2. Herni Fayol was a —

a) Social Scientist (b) Mining Engineer (c) Accoutant (d) Production Engineer
3.Grapevine is —

a) Formal Communication (b) Barrier to Communication

(c) Lateral Communication (d) Informal Communication
4. What is needed for Good Control System ?

a) Eyes of Investigation (b) Head (c) Hand (d) Ability to Analyze.
1I) Answer the following question in a word / sentence : Ix7=7
5.Who is known as the Father of Scientific Management ?
6. List any two examples of Business Environment ?
7. Mention the name of the step related to planning which is considered the key to decision making.
8. What do you mean by Organisation ?
9. Staff recuritment is part of what ?
10. Seoul Group of Companies Chairman L. Seoul established ‘Lakshmi University’ for undergradute
and Post Graduate Courses in various Department. There are some vacancies for CYBER SECURITY
in the IT Department of Lakshmi Power Limited. The company’s Human Resources Department has
decided to recruit new engineering graduate form Lakshmi Univesity for this vacancy.
Identify the type of Recruitment.

11. Write the names of any two elements of Directing ?

Group-B : Each Question Carries 3 Marks : 3x3=9

Give Short Answer in 80 words :
12. Do you think Management is a full- fledged profession- Explain.
* OR
“Management is a Process” - Explain briefly.
13. Discuss the advantage of Divisional Structure ?
* OR
Briefly discuss the importance of Delegation of Authority ?
14. Discuss the relationship between planning and controlling .
Group - C : Each Question Carries 4 Marks (Answer in 100 words) : 4x2=8
15. Discuss the features of Business environment ?
* OR
Lately many companies have planned for significant investment in organised retailing in India. Several
factors have prompted their decision in this regard. Customer income is rising. People have developed



a taste for better quality products even through they may have to pay more. The aspiration levels have
increased. The government has also liberalised its economic policies in this regard and permitted even
cent percent foreign direct investment in some sectors of retailing. What has been the impact of these
changes with regard to globalisation and privatisation ?

16. Briefly explain the importance of Organising .

Group - D : Each Question Carries 5 Marks : 5x2=10

Answer the following questions in 120 words.
17. ‘F’ limited was engaged in the business of food processing and selling its products under a popular
brand. Lately the business was expanding due to good quality and reasonable prices. Also with more
people working the market for processed food was increasing. New palyers were also coming to cash
in on the new trend. In order to keep its market share in the short run the company directed its existing
workforce to work overtime. But this resulted in many problem. Due to increased pressure of work the
efficiency of the workers declines. The divisions that were previously working on one product were
also made to work on two or more products. This resulted in a lot of overlapping and wastage. The
workers were becoming undisciplined. The spirit of teamwork, which had characterized the company,
previously was beginning to wane. Workers were feeling cheated and initiative was declining. The
quality of the products was beginning to decline and market share was on the verge of decrease.
Actually the company han implemented changes without creating the required infrastructure.
Questions :

(a) Identify the Principles of Management (out of 14 given by Henry Fayol) that were being violated

by the company.

(b) Exmplain these principles in brief.

OR

Explain the principles of scientific management .

18. What do you mean by Planning ? Discuss the purpose of planning in Management ?
OR
Briefly explain the steps of Planning.

Group-E : Each Question Carries 6 Marks : 6x2=12
Answer the following questions in 150 words :
19. Explain the process of Staffing ?
OR
A Public transport corporation has hired 1000 buses for different routes for the passengers of a
metropolitan city. Most of the 3000 crewmen (dirves, conductors, helpers etc.) for these buses have
been found to be wanting in satisfactorily dealing with public and daily commuters. They seem to be
little interested in the job and the job seem to have lost all meaning to them.
Questions :
(a) As manager of the public transport company what measures would you take to improve the
working of crewman in question ?
(b) Is it possible to modify their behaviour by planning a suitable type of training ? Suggest one.



20. What do you understand by the term “Motivation”? Explain the features of motivationn . 2+4
OR
What is Leadership ? Discuss the importance of leadership in brief. 2+4
PART-B
Group-F : Each Question Carries 1 Mark : 1x9=9
i) Choose the right answer :
21. Which factor does not affect the finance decision —
a) Risk (b) Liquidity (c) Receipt (d) Productivity.
Anwer the follwing questions in a word / sentence : I1x8
22. Which is the cheapest source of finance ?
23. Mention any two determinants which help to determine the working capital requirement.
24. How many stock exchanges are there in India ?
25. What do you mean by the term ‘Product’ in marketing ?
26. What do you mean by branding of product ?
27. Give two examples of Convenience products ?
28. How much money can be sued for compensation in District Forum ?
29. How many state commissions are there at present in India ?
Group-G : Each Question Carries 3 Marks : 3x2=6
Answer the following in 80 words :
30. Mention the responsibilities of a consumer ?
31. Product is a bundle of utilities. Explain.
Group-H

Answer the question in 100 words : 4
32.Discuss the difference between marketing and selling.

OR
What are industrial products ? How are they different from consumer products ? Explain.
Group- I : Answer the following quesiton in 120 words : 5
33. ‘S’ Limited is manufacturing steel at in India. It is enjoying a buoyant demand for its products as
economic growth is about 7%- 8% and the demand for steel is growing. It is planning to set up a new
steel plant to cash on the increased demand. It is estimated that it will require about Rs. 5,000 crores to
set up and about Rs. 500 crores of working capital to start the new plant.
Question : (a) Describe the role and objectives of financial management for this company.

OR
Explain the factors affecting dividend decision ?
Group - J : Answer the following question in 150 words : 6
34. Discuss clearly different instruments of Money Market.

OR

Discuss the objectives and functions of SEBI.

* Additional Question



Model Question
Class - XII : Chemistry : 80 Marks : 2020-2021
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Model Question

Class - XII : Chemistry : 70 Marks : 2020-201

Group-A : Each Question Carries 1 mark :1x20=20
1.  What is the Co-ordination no. of atom in h.c.p arragement
a)6 (b) 8 ()12 (d)4

2. Following graph is a plot of concentration
of the reactant vrs. time. What is the order of the reaction ?

a) 1 (b)2(c) 3 (d) zero

— Concentration

~

— Time

3. Which of the folowing relation at the state of aolsorption equilibrium is correct.

(a) AH>0 () AH=TAS () AH>TAS (d) AH<TAS
4. How many ions can be generated from the molecule of [Co(en),Cl, in aquous solution?
a)4 (b)3 (c) 6 (d)2

5. Which one of the following compound responds to iodoform test ?

a) CCL,CHO (b) CH,CONH,
o
(¢) CH,-CH-CH, (@ cH,- (‘j‘ —cl
on
b) Answer the questions no. 6 to 13 in a word/ sentence : 1X15

6. Give the name of a crystalline solid in which both the Sckottky and Frenkel efect are possible.
7. Write the general electronic configuration of actinoids.
8.  Write the [IUPAC name of the following.

Me Me

N

Br

9. What is the oxidation no. of the central Iron atom in the compound Fe [Fe(CN),]
10. Dissociation of N,O, follows the mechanism given below :-

N,O, —» NO,+NO, slow

NO,+N,O, — 3NO,+0, fast

What is the molecularity in the rate determining step ?

3

11.  How many lone pairs are possible in SeF,?
12.  Give the name of the component present in nueleotide.



13.
14.

15.

16.

17.

18.

19.
20.

21.
22.
23.
24.

25.

26.

27.

What is Hinsberg reagent ?

Arrange the following ions according to the coagulating power in ascending order.

SO,*, CI, [Fe(CN),]*, PO,

Arrange the following compounds in ascending order on the basis of their acidic property.
Propan-1-ol; 2,4,6-Trinitrophenol; 3 Nitrophenol; 3,5-d, dinitrophenol; phenol.

What are the components present in Fehling Solution?

/CONHz Br,/KOH

HI
(CH,),C-O-CH, == A+B

Arrange the following in assending order on the basis of dissociation energy F,, CL, Br,, I,
Name two factors in support of the abnormal behaviour of the first member of each Periodic
group.

Group-B : Each Question Carries 2 Marks : 2 x 7= 14

Define : (i) ideal solution (ii) Molal boiling point elevation constant.
What is adsorption isotherm ? What is Freundlich adsorption isothern ?
Explain reason : 1) Transition element form coloured compound.

ii) La(OH), is more basic than Lu(OH),
Distinguish by chemical test : Methyl amine and aniline.

Write the structure and name of the isomer possible with the given formula.
[CO(en),Cl,]

* OR

Define lonization isomer . Give example
Write the equation of the reaction between (i) Glucose and Tollen’s reagent.
(i1) What is epimer.

*OR

1) What is zwitter ion.
11) Write two differences between DNA and RNA.
Molar mass of an element is 2.7x102 kg/mol. It forms cubic unit cell of length of the edge

405pm. If its density is 2.7x10°kg/m* what is the nature of the cell.

Group-C : Each Question Carries 3 Marks : 3x7=21

28. (1) Define Osmotic pressure.

i) Which amount of ascorbic acid (vitamin-C C H,O,) is to be dissolved in 76gm acetic acid in

order to decrease the frezing point by 1.5% kf'=3.9k kg/mol



29. (i) What is temparature Co-effecient ?

(i) Decompostion of N, O, in CCl, is observef by measuring the concentration of N,O, at 318 K.
Concentration of N, O initially 2.33 mol L and 2.08 mol L™ after 184min. The reaction are as follows
2N,0,— 4NO,+0,

(iii) Calculate the rate of reaction (ii) Also Calculate the rate of appearance of NO, .... the same
time.

30. (i) Which one of the following forms coloured compound and why ? Cu’, Ti*", Fe*", Zn*

(i1) Explain : atomic radii of Hoffnium is less than Zarconium.

31. Determine state of Hybridization of Cenitral atom, shape of the complex ion and also calculate
magnetic moment of [Fe(CN), -
OR

(1) Write the TUPAC name of the K [(Al(C,0,),]

(i) CrCl,.4H,0, a Co-ordination compound, preciptitates when reacts with AgNO, to give
AgCl. Molar conductivity of the compound in aq. Solution is equivalent to 2 mole ion. Write the
name and structural formula of the compound.

32. Explain:(a) (i) Reactivity of Haloarenes is less than Haloalkenes.
(i1) R-NC is the Major product with R-X react with Define :alcholic AgCH
(b) Ambident nueleophile.
33. (a) Conversion : (i) Phenol — aniline.
(i1) Benzylchloride — Benzyl alcohol.
(b) Give an example of Riemer Tieman reaction.
OR

OH

(CHO)O , _ AlClL
A

B

b) What is Lucas reagent ?
34. Define- (i) Glycosidic Bond.
(i1) Why sucrose is called invert sugar.
(ii1)) What is Mutarotaion ?

Group-D : Each Question Carries 5 Marks : 5x 3= 15
35. (a) State and explain Kohlrausch’s law of independent migration of ions.
(b) What is molar conductance at infinite dilution.
(c) Given 4° (HCI)=426.8 Scm*mol™!
A% (NaCl)=126 Scm’mol !
A° (CH,COONa)=91 Scm’mol !
Calculate 4° (CH,COOH)
OR
1) What is salt bridge ? Write two uses of salt bridge .
(i1) Calculate electric work obtained from the given Galvanic Cell.

Mg | Mg* (aq) || Ag'(aq)Mg
E'Mg*/Mg =-2.36v; E° Ag"/Ag=+0.80v.



(ii1) Predict the feasibility of the following reaction.
Zn+2Ag+ — 2Ag+7Zn*
36) (a) Complete the following Reactions :
) H,.S + HNO, —
(ii) 4P + NaOH+H,O —
b) Draw the structure of the following compound : SF,, XeOF,
¢) only xenon form compound among all noble gases — explain.
OR
a) Explain : (1) Flourine never forms oxyacid.
(i1) H,S is gaseous, H,O is liquid.
(ii1) White phosphorus is more reactive than Red Phosphorus.
b) Write the structural formala of the following.
H,S, 0, H,P,O,

27278

NH,-NH, C,H;ONa
37) a) CH, - (|j =0 CH,COONa 4 B

CH, HCI

b) Arrange the following compound in assending order on the basis of acidic character.
phenol, benzoic acid, acetic acid, methyl alcohol.
c¢) Conversion : 1) Propan-2-one — 2 Methlyl propan -2-01
i1) Ethanoic acid — 2 Bromo ethanoic acid.
OR
a) The empirical formula of two organic compounds is CH,O and their vapour density are 15 and 30
respectively. A reduce Tollens reagent but can’t evolve CO, from NaHCO,. The compound B cannot
reduce Tollens reagent but it can evolve CO, from NaHCO,. Identify A and B. Give all the involved
reaction.
b) Distinguish the following pair by chemical test— Methanoic and Ethanoic acid.

¢) COOH —COOH 4n/H,SO, s

* Extra Questions.
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Model Question
Class XII : Economics : 80 Marks : 2020-2021

Section-A : Macro Economics : 40
Group-A : Each Question carries 1 mark : 1x10=10

1. Nominal GNP indicates (GNP at constant prices/GNP at current prices)
(Fill in the blanks with correct answer)
2. Which of the following is not a transfer income. (Choose the correct alternative)
a) Pension (b) Profits (¢) Unemployment allowance (d) Both (a) and (c)
3. Average propensity to save (APS) is the ratio of and

(Fill in the blank with correct answer)
4. State the components if M1 measure of money supply.
5. What is an intermediate good.
6. State whether the following statement is true or false.
‘The latest demonetisatiom of currency was undertaken by the Government of India on November 8§,
2016.
7. Differentiate between exante and ex-post investment.
8. Give one example of an invisible item of Balance of Payment.
9. Whether the following statement is true or false :

Induced consumption is influenced by level of income.

* OR

Name any two quantitative tools to control credit creation in any economy.
10. From the set of statements given in column I and Column II, Choose the correct pair of statements.

Column -1 Column-II
a) Export of software to United States 1) Debt side of Current Account
b) Import of Rafale fithter jets form France | ii) Capital Account of Balance of Payments.
c¢) Remittances to relative staying abroad ii1) Debt side of Current Account Balance of Payment
d) Investment of Apple phones firm in India | iv) Credit side of Current Account Balance of Payment

Group-B : Each Question Carries 3 Marks : 3x2=6
11) Define multipiler. What is the relation between marginal propensity to consume and multiplier?
Calculate the marginal propensity to sonsume is 4 the value of multiplier if.
12) Explain the ‘Lender of the Last Resot’ function of the central bank.
*OR
What are the impacts of demonetisation in India?
Group-C : Each Question carries 4 Marks : 4x3=12
13. Define the following :
a)Gross Domestic Product at factor cost.
b) Net Domestic Product at Market Price
¢) Net Domestic Product at Factor Cost
d) Gross National Product at Market Price.
*OR

Discuss the circular flow of national income in two sector model.

14. What are the main functions of money ? How does money overcome the shortcoming of a barter
system ?

15. What is marginal propensity to consume ? How is it related to marginal propensity to save ? 2+2



Group-D : Each Question Carries 6 Marks : 6x2=12
16. Calculate (a) Net National producte at Market price, and (b) Gross Domestic Product at Factor
cost

Particular Amount
(Rs. in Crores)
1)  Rentand interest 6000
i)  Wages and salaries 1800
i)  Undistributed profits 400
iv)  Net Indirect taxes 100
v)  Subsidies 20
vi)  Corporation tax 120
vii)) Net factor income from abroad 70
viii) Dividends 80
ix)  Consumption of fixed capital 50
x)  Social security contribution by employers 200
xi) Mixed income 1000
OR

Write down some of the limitations of using GDP as an index of welfare of a country.
17.(a) Categorise the following into current account items and capital account items in the balance of
payments account of coutry. Give reason in each case.
1) Export of Jewellery
i1) Foreign portfolio investment in the country
ii1) External commerical Borrowings
1v) Shipping, Banking, Insurance and tourism services.
b) Explain the concept of ‘deficit’ in balance of payments.

Section B : Indian Economic Development : 40 Marks

Group- A : Each Question Carries 1 mark : 1x10=10

Choose the correct answer :
18. Which one of the following was not a cause of economic crisis in 1991.

a) BOP crisis (b) Low agricultural growth are

(c) High fiscal deficit (d) Strong inflationary pressures.
19. It reffers to contracting out some of its activities to a third party which were earlier performed by
the organisation .

a) Outsourcing (b) Globalisation (c¢) Privatisation (d) Liberalisation

* OR

“World Bank is also known as International Bank for Registration and Delimitation. (True/False)

20. The main aim of Great Leap Forward (GLF) was to ensure rapid increase of  in China.
a) Agriculture (b) Industries (c¢) Services (d) Exports

Fill in the Blanks :

21. World Trade Organisation (WTO) was established in 1995, as a successor organisation to

22. Established in 1982 is an apex institution of Rural Banking.

23. What do you mean by ‘Human Capital Formation’.
24. Indentify the correct suquence of alternatives given in column II by matching them with respective
terms in column I.



Column I Cloumn II
a) National Rural Livelihood Mission 1) 2005
b) Swarna Jayanti Shahari Rozgar Yojana 11) 1970s decade
¢) Mahatma Gandhi National Rural
Employment Guarantee Act 1i1) 2011
d) Food for work Programme v) 1997
25. Great Proletarian Cultural Revolution was introduced under the leadership of
a) Mao Zedong (b) J.L. Nehru (¢) M. K. Gandhi (d) Jyoti Basu
26. State whether the following statement is true or False :
Benefit of Economic growth percolates down to all sections of the society is termed as “Trickle
Down Approach”.
27. Which of the following is an example of conventional source of energy -
a) Natural Gas (b) Solar energy (c) Biomass (d) Wind energy.

Group- B : Each Question Carries 3 Marks : 3x2=6

28. ‘Rapid increase in economic growth surely trickles down to the people under the absolutely poor
category’. Defend or refute the given statement with valid arguments.

* OR
Write any three major problems of Healthcare sector in India.
29. Recently government of India is inviting private sector investment for running 151 modern passen-
ger trains over most of the profitable destinations. Do you agree with this attempt? Why ?

Group-C : Each Question Carries 4 Marks : 4x3=12

30. What are the measures taken by the government of India to improve agricultural marketing ?

* OR
What is organic farming and how does it promote sustainable development?
31. Some infrastructural facilities have direct impact on production of goods and services while others
give indirect support by building the social sector of the economy. Using the above information differ-
entiate between social and economic infrastructure.
32. What are the similar Developmental Strategies have India and Pakistan followed for their respective
developmental paths ?

Group-D : Each Question Carries 6 Marks : 6x2=12

33. Discuss the industrial sector reforms introduced under new economic policy.
34. (a) “Human Capital formation gives birth to innovation, invention and technological improve-
ments”. Do you agree with the given statement ? Support your answer with valid arguments.
(b) Differentiate between Relative and Absolute Poverty.

OR
“Rural Economic development is essential for Indian Economic development”. Do you agree with the
given statement? Support your answer with valid reasons.

* Additional Questions



MODEL QUESTION
Class - XII : Education : 80 Marks : 2020-2021
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Model Question
Class - XII : Education : 80 Marks : 2020-2021
Group-A
Each Question Carries 1 marks 1x20=20

I) Choose the correct answer : Ix5=5

1. The Propounder of Naya Darshan is —

(a) Maharshi Batsayan (b) Maharshi Goutam (c¢) Maharshi Patanjali (d) Parshwanath.
2. The meaning of ‘Kindergarden’ is —

(a) Sishu Udyan (b) Sishu Bhavan (¢) Sishu Griha (d) Sishu Niketan
3. Spearman divided the Mental Ability into —

(a) 2 types (b) 3 types (c) 4 types (d) None of the above.
4. In which year idea of Guidance first introduced.

a) 1909 (b) 1905 (c) 1911 (d) 1907
5. Which is the Mode of the following score —

Scores : 20, 23, 24, 21, 19, 20

a) 20 (b) 19 (c) 23 (d) 21

1I) Answer each of the following questions in one words sentence: 1x15=15

6. Who was the main propounder of Naturalism ?

7. Give an example of specific learning project.

8. Who is regarded as the father of modern child centric education?

9. Write the name of any one book written by Froebel.

10. What is individual difference ?

11. Mention two factors of creativity.

12. What is the literal meaning of value ?

13. Write the full form of CCE.

14. What is meant by the word ‘Councelling’?

15. What is Timidity ?

16. In which year Braille Method was invented ?

17. What is meant by score ?

18. What is meant by written communication.

19. Write the full form of ISRO?

20. Who is called ‘Inborn Deaf Children’?

Group-B

Each Question Carries 2 Marks : 2x6=12
Answer each of the following question with in 40 words

21. Write the etymological meaning of the term ‘Philosophy’.

22. What is meant by Inborn difference ? Give an example.

23. How many types of discipline are there and what are they ?

24. Give two examples of maladjusted behaviour.

25. Who propounded the term ‘Histogram’ and in which year ?

26. Write the etymological meaning of the term ‘Techology’.



Group-C

Each Questions Carries 3 Marks : 3x4=12
Answer each of the following questions with in 60 words :

27. Explain the idea about curriculm proposed by Maria Montessori.

28. What is the modern concept of discipline.

29. Discuss the importance of Inclusive Education in brief.

Or
What are the behavoural characteristics of hearing impaired children ?
30. Write three roles of satellite Television in education.

Group-D
Each Question Carries 4 Marks : 4x6=24

Answer each of the following question within 100 words :
31. Discuss briefly the contribution of Froebel in Education.
32. Mention the characteristics of general mental ability.
Or
Discuss briefly the infulence of individual differences in education.
33. Mention the classification of Co-curricular activities.
34. Discuss the characteristics of Electric Councelling.
35. Discuss briefly the methods of teching about visually impaired childern.
36. Discuss the role of internet in education.
Or
Discuss briefly the types of communication.
Group-E
Each Question Carries 6 Marks : 6x2=12
Answer each of the following questions within 150 words :
37. Discuss the relation between education and philosophy.
Or
Discuss the principles of education as mentioned by Naturalism.
38. Calculate Mean and Median of the following frequency Distribution.

Score 75-59 | 70-74| 65-69(60-64 |55-59 | 50-54|45-49 |40-44 | 35-39
Frequency 1 3 4 9 11 5 5 1 1
Or
39. Calculate the Standard Daviation (S.D) of the folloiwng score.
Score 21-30(31-40 | 41-50|51-60 [61-70|71-80 | 81-90 [91-100

Frequency 2 3 4 5 7 6 4 1




MODEL QUESTION

Class - XII : English: Time -3Hours 15 Min.: Full Marks- 80 : 2020-2021
Section A : Reading 20

1. Read the passage given below and answer the questions that follow : 12

a) Tourists to Jammu and Kashmir have another attraction - afloating post ofice on the Dal
lake in Srinagar, the first in the country. ‘Floating Post Office, Dal Lake’- claimed to be the
only one such post office in the world - is built on an intricately carved marron houseboat,
fastened on the western edge of the Dal lake.

b) This post office lets you avail of all the regular postal services available in the country
while being a float. The seal used on everything posted from floating post office is unique-
along with the date and address, it bears the design of a boatman rowing a shikara on the
Dal lake. The special feature of this post office is that letters posted from here carry a special
design which has the picturesque scenery of Dal lake and Srinagar city. These pictures
reach wherever these letters are posted to and hence promote Kashmir as a tourist destinatiion
across the world.

c) This is actually a heritage post office that has existed since British times. It was called
Nehru Park Post Office before 2011. But then the chief postmaster John Samuel renamed it
is ‘Floating Post Office’.

d) The post office’s houseboat has two small rooms- one serves as the office and the other
a small museum that traces the philatelic history of the state postal department. It has a shop
that sells postage stamps and other products.

e) But for the locals, Floating Post office is more than an object of fascination, 1-2 crore is
deposited per month in Floating Post Office by communities living in and around the Dal
Lake. The lake has several islets that are home to more than 50,000 people.

f) The greatest fear is the recurrence of 2014 like floods in which the houseboat had gone for
a loss uncontrollabyly pushed by the flood. Rescue teams had to anchor it using special
mechanism in a nearby highland. Then it was brought back on the Dal after the water re-
ceded. The biggest boon is that at no time of the year do you need a fan in this Post-office.

A. Answer the following questions choosing the correct options givenones :  1x5
i) What is the location of the Floating Post Office ?
a) Srinagar (b) Near Centaur (c) On Pari Mahal

i) What is special about the seal used in the post office ?

a) design of a housboat on the Dal Lake
(b) design of a boatman rowing a shikara on the Dal lake
(c) design of a chinar tree on the Dal Lake.



(iii) How the post office is helpful in promoting tourism ?
a) Its building is picturesque (b) It is the ancient Post Office of Kashmir
(c) The letters posted from here carries a picturesque scenery of Dal Lake.
(iv) Who renamed the post office as ‘Floating Post Office’ ?
a) Chief Postmaster (b) Postman (c) Delivery agent.
(v) The other room of the post office is used as a :
a) Museum (b) Bank (c) Police Station.
Answer the following very short answer type questions : 1x7
1. The islets of Dal lake is inhabited by how many people ?
. How much money is deposited per month in the post office by people?
. How is the post office a big boon to the people ?
. Which year did the flood come in Kashmi Valley ?
. For whom is the Floating Post Office a point of attraction ?
. What is the greatest fear of the people living in the houseboats in Dal lake ?

~N O OOk~ WODN

. Find a word in the passage which means a heavy object attached to a cable or chain ?

2) Read the following passage given below and answer the Questions that follows : 8

a) The defence mechanism of human body is a gift of nature provided to human beings. The
power of our body to fight against various disease producing agents is known as defen-
sive mechanism. This defensive mechanism depends upto various facors which can be
categorized mainly into two types-common factors and special factors.

b) Among the common factors, the most important is the health of human beings. We all
know if we are having a good health, our body automatically remains protected against
diseases. For keeping good health, one should have a nutritious balanced diet. A bal-
anced diet is that which provides all the nutrients a person requires.

c) The skin of our body saves us agians many micro-organisms, provided that it is intact. In
case there are cuts and abrasions on it, the micro-organisms penetrate the body through
those cuts and abrasions and cause diseases. Therefore, a cut or abrasion should never
be left open. In case there is no bandage available, a clean cloth may be used to cover it.

d) Some bacteria reside on and inside the human body. They are our friends and help us in
many ways. They do not cause any disease and by their presence, they do not allow
disease-causing organisms to settle on those places. For example, some bacteria break
down carbohydrates and toxins, and they help us absorb the fatty acids. Bacteria also
help protect the cells in the human intestine from invading pathogens and also promote
repair of damaged tissue.

e) There are few automatic activities of our body known as ‘reflex phonomenon’. Reflexes
are unconscious responses, which means they are automatic and do not requre the brain
to create the action. Some of these automatic activities protect the body against many
infections. This reflex phenomenon includes sneezing,coughing and vomiting.

f) Fever is one of the most important consituents of the defensive mechanism of your body.
The organ which regulates the temperature of our body is known as the hypothalamus.
When micro-organisms after entering the body release toxic products and these reach



the brain through blood, the hypothalamus starts increasing the temperature of the body.
This is how a person gets fever. This fever is very useful for the human body as the rise in
the body temperature Kkills the disease-causing microbes.
On the basis of your understanding of the above passage, answer the questions given
below : 2x4
i) Why should a cut or an abrasion never be left open ?
ii) How are some bacteria beneficial to the human body ?
iii) What is ‘reflex phenomenon’?
iv) Why is fever useful for the human body ?

Section-B Writing Section 30

3. Your are Health Secretary of the Students Council of ‘X’ School, Agartala. The council
has decided to start in October, a week-long cleanliness programme around the school
area, Draft a notice in about 50 words asking the class Xll students to enrol for the
programme. 4

OR

You are the Principal of an Institution located at Kailashahar. You are badly in need of a
PGT Chemistry teacher for class XI and XIl. Draft a suitable advertisement in not more
than 50 words for the ‘Situation Vacant’ column of a local daily, stating essential and
desirable qualifications, experinece etc. of the cnadidates.

4. You are Dibakar/Disha, Sports teacher of a South District School. A month ago you
placed an order for the supply of a new sports goods. So far, you have not received the
goods. Write a letter in 120-150 words to the Sales Manager of ‘Fit and Fine Sports’, HGB
Road, Agartala, requesting a speedy delivery of the goods. 6

OR

Due to insanitary conditions in the locality, the number of flies and mosquitoes has multi-
plied, exposing the residents to multiple diseases. Write a letter to the Municipal Commis-
sioner bringing the problem to his notice and urging him to take urgent action in this
matter. You are Shubhrajit/Sreyashi of Arundhoti Nagar, Agartala.

5. Write an article in 150-200 words on impact of continuing destruction of forest and
ildlife. You are Adrija / Argha of Resham Bagan HS School. 10
OR

Write an article of 150-200 words on the ongoing pandemic of COVID-19.

6. In your locality, a blood donation camp was organized by an NGO. Many people visited
the camp and donated blood. Write a report in 150-200 words for a local newspaper
covering the programme. 10

OR
Insessant rain has caused irrevocable damage in your area. As an active participant in the

Flood Relief programme, write a report in 150-200 words on the different flood relief
measures carried out. You are Babul/Bhumika.



Section-C (Literature) 30
7. Answer the following questions in brief (any eight) : 1x8

a) Name the wirter of ‘Lost Spring’.

b) Where is Seemapuri ?

c) “From the beginning, however, | had aversion to the water when | was in it. This started
when | was three or four years old and father took me to the beach in California.

Find a word from the passage from the extract that mean’s a strong feeling of not
liking something.
d) Name of pool that affected Douglas badly.
e) Select the right option : Rajkumar Shukla was
i) A Sharecropper (ii) a politician (iii) a delegate (iv) a landlord.
f. Fill in the blank: The Poet’'s mother’s face looked pale asthe _ moon.
g. Fill in the blank : Gandhiji agreed to a settlementof % refund to the farmers.
h. From where did the Dewan bring the hundredth tiger ?
i. What is common between Zitkala-Sa and Bama ?
j- ‘It ate my face up. It ate me up,’ says Derry to Mr. Lamb.What is ‘it'?

8. Answer the following questions in not more than 40 words. (any five) : 2x5

a. What qualities of Mr. Lamb attracted Derry ?

b. List the things of beauty mentioned in the poem ‘A Thing of Beauty’.

c. How will keeping quiet protect our environment ?

d. What is the kind of pain and ache that the poet Kamala Das feels ?

e. What do you learn from the story ‘Deep Water’?

f. Why do you think the servants thought Gandhiji to be another peasant ?

9. Write about the life of the ragpickers of Seemapuri in 120-150 words. 6
OR

Give an account of Gandhiji's efforts to secure justice for the poor indigo sharecroppers of
Champaran in 150 words.

10. Answer the following questions in120-150 words. 6
How do Mr. Lamb and Derry differ in their thoughts, traits and attitude to life.

OR
How did the tiger King achieve his target of killing a hundred tigers ?
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Model Question

Class - XII : Geography : 70 Marks : 2020-2021

Section-A: Each Questions Carries 1 Marks 1x20=20
a) Pick the correct answer : 1x5=5
1. Who introduced the concept of Neodeterminism ?
(a) F. Ratzel (b) Griffith Taylor (¢) E. C. Semple (d) Paul Vidal de la Blache
2. Which one of the following is not a pull factor ?
(a) Job Opportunity (b) Water Shortage (c) Educational Facilities (d) Medical Facilities.
3. Farming which include cultivation of grains and animal husbandary together is known as —
a) Mixed Farming (b) Dairy Farming (c) Plantation Farming (d) Commerical grain cultivation.
4. Which one of the following rivers has the highest replenishable ground water resource in India?
a) The Indus (b) the Ganga (¢) The Brahmaputra (d) The Kaveri
5. Which one of the following countries has the highest Sex ratio in the world.
a) Latvia (b) United Arab Emirates (c) Japan (d) France.
b) Answser the following questions in one word/sentence : 1x15
6. What is the full form of HDI ?
7. Give one example of Ferrous Mineral.
8. What is migration?
9. What is Human Development ?
10. Name the sister discipline of population Geography.
11. What is Medical Tourism ?
12. Who coined the term Conurbation ?
13. Write the standard census definition of main worker .
14. What is the full form of UNDP?
15. When was NITI Aayog formed ?
16. Which is the largest slum of Asia ?
17. Which sector of economy is in the highest level of economy ?
18. Name one eudcational town of India.
19. What is ‘Swachha Bharat’ Mission ?

20. How is population density is measured ?
Section-B Each Question Carries 3 Marks : 3x4=12

21. Distinguish between Rural Settlement and Urban Settlement.
22. Write about the features of National Youth Policy.
* OR
Discuss the four stream of migration in India.
23. Discuss three problems of water pollution?

24. Explain the Pillar of Equality of Human Development.



Section-C Each Questions Carries 5 Marks : 5x6=30

25. Desceribe the stage of Demographic Transition Theory with suitable examples.
* OR
Discuss cases of unevern distribution of population in the world with suitable example.
26. Write the purposes of ‘Namami Gange’ Programme.
* OR
Discuss the controlling measures of land degradation in India.
27. Discuss the characteristics of subsistence Agriculture.
28. Differentiate between Nomadic Herding and Commerical Livestock Rearing with examples.

29. Discuss the different phases of growth of population in India.

30. What is ‘Ferrous Metal’? Describe the Iron producing regions of India. 1+4=5
OR
Describe the distribution of mineral oil producing areas of India.
Section - D Each Question Carries 4 Marks 4x2=8

31. In the given map of the world locate and label the following :
1) Largest continent in terms of Area.
11) Prairies
ii1) Doha
iv) One plantation agricultural region of South Asia.
32.In the given map of India locate and label the following :
a) Raniganj Coal Field
b) An oil refinery of East India.
¢) One rice producing region in S.E. Asia.
d) Bailadila
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MODEL QUESTION

Class - XII : History : Full Marks- 80 : Time -3Hours 15 Min : 2020-2021

Group-A Each Questions Carries 1 Mark : 1x20=20
A) Choose the correct answer : Ix5

1. The father of Indian Archaeology is —
a) Alexander Cunningham (b) Daya Ram Sahni (c¢) Lord Curzon (d) John Marshal.
2. Harisena was the court poet of —
a) Chandragupta Maurya (b) Chandrapugta II (c) Samudragupta (c) Kanishka
3. The Preacher of Bhaktism was -
a) Nizamuddin Auliya (b) Kabir (¢) Shaikh Nizamuddin (d) Chishti Khangah
4. Hampi was declared as a world Heritage site in -
a) 1800 AD (b) 1986 AD (¢) 1991 AD (d) 2012 AD
5. The founder of Subsidiary Alliance was -
a) Lord Dalhousie (b) Lord Wellesley (¢) Lord Cunning (d) Lord Minto
B) Answer the following questions in one complete sentence : Ix15
6. What did Ashoka call himself in his Edicts ?
7. In which year John Marshal announced the discovery of Indus valley civilisation ?
8. Who Wrote the book ‘Harshacharita’?
9. Who was the greatest ruler of the Satavahana dynasty ?
10. Who was Gandhari ?
11. What is the name of the principal deity of Puri ?
12. Between whom was the battle of Talikota fought ?
13. What is the name of the biography of Babur ?
14. Who introduced the permanent settlement in Bengal ?
15. Where was the Mutiny of 1857 started first ?
16. Who was the Chairman of the Drafting committee of the Indian Constitution ?
17. Who was the editor of the newspaper ‘Harijon’?
18. Who was Rani Laxmi Bai ?
19. Who were the founders of Vijayanagara Kingdom ?
20. Who was the Guru of Kabir ?

Group-B Each Question Carries 3 Marks 3x4=12

Answer the following questions in not more than 60 words each :
21. How did Magadha become the most Powerful Janapada ?
22. Discuss the contribution made by Krishnadeva Raya in the field of art and literature.
23. Mention any three causes that led the Santhals to revolt against the British rule in
1855-1856.



* OR
Describe the peoples reactions to the Rowlatt Act of 1919.
24. Explain any three causes for the failure of the revolt of 1857.

Group-C Each Questions Carries 6 Marks 6x3=18

Answer the following questions in not more than 150 words each :
25. Mention the causes of the downfall of the Harappan civilisation.
26. Analyze Akbar’s religious policy.
OR
What was the contribution of Babur in the establishment of the Mughal Empire ?
27. What were the Ideals expressed in the Objectives Resolution of constituent
assmebly?

Group-D Each Questions Carries 8 Marks 8x3=24

28. Explain the Brahmanical norms of marriage.
OR
What were the similarities and differences between Buddhism and Jainism ?  4+4
29. What is Bhakti movement ? Discuss the key features of Bhakti movement.  2+6
30. Discuss the programmes and objectives of the Non-cooperation movement. What
was the importance of the movement ? 5+3

Group-E Map work : 6

31. On the given out line map of India, mark and locate the following :
a) Lothal (b) Sanchi (c) Magadha (d) Agra (e) Meerut (f) Ahmedabad.

* Additional Question
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Class - XII : Mathematics : 80 Marks : 2020-2021
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10. T A G356 3x3 SR F-Prenera s @32 |Aj=5 27, O |adj A= :
Answer the short questions

dx

.2
11, 1 foiefer <o 2 flil?:o:x

12. 5= fefar 3¥cat ¢ Iex (logsin x + cot x)dx

xcos® xdx

—to N

13. TAf7S sisteTar 43 9<2ie 6 S e et ¢

I
NI

14. AT A, 3 x 4 I @R IGH B, m x n FEE 7 GHA AT A'B 932 BAT ToF F&©
2, OC@ m R n G N el N |

5 7 8

15. Rgs a e 10 17 18| Sz st faefr e |
20 24 26

16. ST 97 x=0 YT 7F0! A I, @A f 707 esre

sin

17. fasfaie sRreee AR T3 @R Tre e 5 ¢
18. ‘P’ 9T AINEEET =3 +27+9k 9R b =i—2p;+3k (ST AN ©f fiefar ol |

1 4R 3
19. TS =TT (@ A @3z B 96 961 @A P(A) = 5+ P(B)= 5 R P(AUB)=¢ | A @3} B 9541 75 1A

1 21t e |
20. ¢F6 @[ @l Y2 57 F41 261 | P(F/E) e a1, @i
E : SNATF G0 (T T o1
F: Tox 503 (T TSI 9o |
faetor-4 ¢ @fsfb errs 19 2 2 2x6=12

| COSX

21, tan~ (F AT FHICT 2P AT |

l=sinx
22. logX COSX(FH X AT ACATS AIFeT ICA] |

2
X

23. 3+1y_6=1 Togren Soifafrrs s Rz e 01 @ RAaTeies oHE x SIewe STears |

24. 4 =3+ j—dk SR ] =61 +5)— 2k TN (ST ToRI 71X @ 36 (9F oA T W 3
G |

25. 3x-y+27-4=0 G x+y+7-2=0 ATSTARI @AM €32 (2, 2, 1) RS s7sreer s73ieael faefz
|



1 1
26. G NS TP A @32 B GF 2ATF TSI AN T ASIK I 5 @Ry RITACERACICHES

TG HATSIE AN IS (B! I, O AT AN 28T AS o7 361 |
fa=i9-9 : Each Question Carries 4 Marks : 4x6=24

27. a9 I (7,

1 42 1. .,4
tan—1—+tan~ —=—sin~ —
4 9 2 5

3 3 -1

28. 4= 2 22 1 yiftenss ool afeom ok «=ff Retfoom s sisgret 2 e |
4 -5 2

d
29. 3 x\/1+y+y\/1+x =0 T, O 499 I A, (1+x2)d—i+1=0

* 9q}
d*y dy
=xlo sV B
aft y=xlog ——= o, O el A, X 5= x
2 Xxsin xcosx
30. W ey | ———————d
-([sin“x+cos4x *
* 9qt
oA A @,

1

J-log(1+x)dx_£1 2

0
0 1+ x? 8 &

31. fsfeie s FRiwaeta [ReE g el e ¢

d .
—y—3ycotx:sm2x
dx

V4
AN MR (@, y =2, I x =

32. S & @, COVID-19 SRSt Grod (25m19) feawtaire fiafaiieeia S w1 241

G SRR T 371 @N1F COVID-19 S, O 95% 9= (F0a @I *18 27, 6 5% e
(TS T | @ e @NF COVID-19 I, ST 99% @ [ COVID-19 @0ifoe (—ve) fsifae 23 fog
1% COVID-19 #f&6® (+ve) 4R #ItT | G5 Reiiet G125 I 3G 0.1% @ COVID-19 ST, ©f
T[S GFT (S ICABLSIA fod5e ST COVID-19 2181 F08 (el Z0et @R @it fJmifde (Pathologise)
0o e @O COVID-19 +ve | @ B 2F@oItF COVID-19 SIFE 26T TSR fefar T |




fet9-9 ¢ Each Carries Quesiton 6 Marks 3 6x4=24
33. G =TS 2! el @i TEseetEn T S 2

X=y+2z=7

3x+4y—-5z=-5

2x—y+3z=12

KRG
fRefiReara <ol 2l 77, ordle @

(b+c)’ ba ca
ab (c+a) cb |=2abc(a+b+c)
ac bc (a+b)

34.x2=y SIfEFE€ IR y=x+2 A SN SFALT G 4T b ey IR | e A= AT T @2
R ST CFazre wefT S |

x-1_y-2 z-3 ~x-2_ y-4_ z-5

35. = 3 7 R 2 . T (@4l G0F (SFF P ANl fo74 | Srowiz
AR GoF SOTS! Faros! YR el S |
NRE|

P(3, 2, 1) % (A 2x—y+z=1 AN ST Se&re SGACH (7 <R SAMRYT RS ey S | Aroe
P Rz aifof g w=ites @ e s |

) , 4R
36. (7418 @, R [T RS @3 (oNleTcss Srefeis 792 SITetas 17 JeiPR *1&5a Sl 20l —

s 8
Me (@, ¥&PLF AIFRR SIS 2N (AATROT SRS 57 S

* qfefag eriaen



Model Question
Class - XII : Mathematics : 80 Marks : 2020-2021

Section-A : Each Question Carries 1 Mark : 1 x 20 =20

I) Answer the correct option:  1x5
1. If A is a squrare matrix, then A™! exists if and only if
a) A is singular
b) A is non-singular
c) A, isof order 2 x 2
d) A, is of order 3 x 3
2. y?= 4x at the point (4,4) is

1 1
2)-2 (b) 2 © 5 @ -5

3.If ‘El . B‘=‘;X5‘ then, the angle between 4 and j is

z b z z d fth
a) 5 ) 3 c) ) ) none of these
dx
4. I [45— 22 ~ equals
(a)sin™ x=2 +c (b)—sin™ x=2 +c
2 2
o ox=2
(c)cos™ ) tc d) none of these

5. If the matrix B is both symmetric and skew-symmetric, then
a) B is a diagonal matrix
b) B is an identity matrix
¢) B is zero matirx
d) none of these
IT) Fill in the blanks : 1x5

) . o x—4 y-4 z-1 .
6. The coordiantes of the point where the line > = 3 = 5 cuts the yz— plane is

- . T
7. The principal value of S l SmT is

.42
8. If sin sm"§+cos‘1x =l  thenx=

9. The angle b he oair of lines Y= Lo Z gng X2 _¥=2_ 273
. The angle between the pair o ines 5 ==7 and — == s




10. Let A be a non singular matrix of order 3x3 and |A|=5. Then |adj A|= .

I1I) Answer the short type questions : 1x10
)
sin” x
11. Evaluate 8 '[ dx
I—cosx

12. Evaluate Iex (logsin x + cot x) dx

xXCos’ xdx

— N

13. Evalute, by using the property of definite integral 2

Wy

14. If matrix A, is of order 3 X 4 and matrix B is of order m x n such that A™B and BAT are both

defined. Then determine the values of m and n.

5 7 8
1517 18
20 24 26

15. Without expanding, find the value of the determinant

16. Examine the continuity of the function f'at x=0, where f'is defined by

sin
fl)= w0 O
o x=0
2 d 3
17. Find the order and degree of the following differential equation 2 X); + d_J; =0

18. Find the value of ‘p’ for which the vectors g = 3+ 2}‘ +9kand p =j— zp}‘ + 3k are collinear.

1 3 3
19. Given that the events A and B are such that P(A) = 5 P(B)= 5> P(AUB)= 5 | Check whether

the events A and B are independent or not.
20. A fair coin is tossed two times. Find P(F/E) , where
E : At least one head appears
F : Heads on both tosses.
Section : B : Each Question Carries 2 Marks : 2x6=12

CcoS X
1=sinx

21. Express than tan™ in the simplest form.

22. Differentiate logx ©** with respect to x .

2 2
23. Find points on the ellipse? + I =l at which the tangents are parallel to x- axis.

24. Find a vector of magnitude 3, which is perpendicular to both the vectors 4 = 37+ } _ 4 and

b =6i+5j-2k -
25. Find the equation of the plane passing through the intersection of the planes 3x—y+2z—4=0 and
x+y+z—2=0 and the point (2, 2, 1) .



1

1
26. Probability of solving a specific problem independently by A and B are ) and 3 respectively. If

both of them try to solve the problem independently, find the probability that the problem is solved.
Section C : Each Question Carries 4 Marks : 4x6=24

27. Prove that,

1 42 ., 4
tan—1—+tan —=—sin~ —
4 9 2 5

3 3 -1
28. Express the matrix A= -2 -2 1 as the sum of a symmetric and a skew-symmetric matrix.
-4 -5 2

dy
2 J—
29. Ifx\/1+y+y\/1+x =0 , prove that (I1+x )dx+l—0

* OR
RS d’y dy ’
=xlog —— 32— L
Ity g 0+ b PrOVE that x 7 de
3
30. Evaluate ¢ j Xsin xos x dx

SlIl X+COS X

* OR
Prove that

J- log(1+ x) Elogz
1+x° 8

0

31. Find the particular solution of the diffrential equation

d .
d—y—3ycotx=sm2x

X
given that y =2, when x = 5
32. Suppose that the reliability of COVID-19 Antigen test is specified as follows :

Of people having COVID-19, 95% of the test detect disease but 5% got undetected. Of
people free of COVID-19, 99% of the test are judged COVID-19 negative but 1% diagnosed as
showing COVID-19 positive . From a large population of which only 0.1% have COVID-19 , one
person is selected at random, given the COVID-19 test, and the pathologist reports him/her as COVID-
19 positive. Determine the probility that the selected person actually has COVID-19.



Section D : Each Quesiton Carries 6 Marks : 6x4=24
33. Solve the following system of linear equations by matrix method :
xX=y+2z=7
3x+4y—-5z=-5
2x—y+3z=12
OR

Using properites of determinants, show that

(b+c)’ ba ca
ab (c+a) cb |=2abc(a+b+c)
ac bc (a+b)

34. Draw a rough sketch of the region enclosed by the parabola x*=y and the line y =x+2 . Also find

the area of the region, using method of integration.

x-1 y-2 z-3 d x-2 y—-4 z-5
2 3 4 M T3y TS

and hence determine the shortest distance between them,

35. Write the vector equations of the following lines

OR
Find the length and the foot of the perpendicular from the poing P (3, 2, 1) to the plane 2x—y+z =1 .
Also, find the image of the point P in the plane.

36. Show that the height of the right circular cone of maximum volume that can be inscribed in a sphere

4R 8
of radius R is T . Also, show that the maximum volume of the cone is E of the volume of the

sphere.

* Additional Question



MODEL QUESTION

Class - XII : Music : Time -2h : Full Marks- 45 : 2020-2021

Unit-1

y) frefaifs w2em srifreress St @ ARAMEF SRl F=2I(F TG 7 | 4x2=8
%) g erers (¥) 7B (41) Fergel B |

) FRNH AGNCS *IFR FRANCET AT A=ATE A5 57 | 4

o) o epaifera wfow Teal® wie / @& wAm Tea wie ¢ Ix11=11

T) T ACR TS (& ? SIOU0S/INF g / I7©8

<) OPReZ-320 I IS 2 AT TG / 0 A&/ I

1) FIRAIF & @A’ oiiwioa a5l 2

9) FIEHR’ A @ Ao 2

8) +IfT® Ton AT G AT FICT I fo72 |

B) FIG! T SIA 35 G0 AT A1 @04 |

) ‘el SR o7l 2[R0 — oM IRNGIRE @ RN ol 2 — sf@il / 2 / 2o |
o) T O IO WG — 9/ 3/

A) ‘@R A @I ST Sl 2

@) TR 2 get SNF (AT (e —al=i BT (G141 2 AL/ TSP/ TS
B) SIS SR R3S 6ot Zre————— |

Unit-I1 2x4
8) Trizaez e o1t ¢ (@i 51Ef)
) T Oi6 () Sifer @ «ifF (o) Al (1) AGIRA (8) A7

@) iEl, e 8 (@QEPR o gib o1 8 21x2=4
F) ST () F9TeT |
Unit-I11 Short Notes 3x2=6

v) 7R Bt 612 ¢ ) Toaet () e

Unit-1V Notalian 4
1) FERRS @ @9 9F6 AR GO R R € G T R A:ifte =ifers &2 |

F) T (*) Gife




MODEL QUESTION

Class - XII : Music : Time -2h : Full Marks- 45 : 2020-2021

Unit-I
1. (a) Discuss the life and the contribution any two of the following musicians. 4x2=8
(1) Pandit Bishnu Narayan Bhatkhande (i1) Jadu Bhatta (ii1) Nazrul Islam
2. Discuss the influence of Classical Music in Rabindra Sanget. 4
3. Give the correct answer / answer in a word or sentence the following : Ix11=11

(a) Who is the composer of Raga Iman ?
Bhak khande / Amir Khasru / Jadu Bhatta

b) Who is the writer of the ‘Tansangraha’
Amir Khasru / Ratan Jhankar/Tansen

¢) Who is the author of song ‘Karar O1 Louha Kapat™?

d) Who is known as ‘Kanta Kabi’?

e) Write the name of one famous disciplen of Pandit Ratan Jhankar.

f) Name one Raga intoduced by Nazrul Islam.

g) To which catagory — Puja / Prem Prakriti, the following song of Rabindranath ‘Pran bhariye
trishna hariye’ belongs?

h) No. of ‘matra’ in shashti tal is 3/2/6

1) To which that ‘Kedar’ raga belong ?

j) The song ‘Momer putul mamir desher meye’ - wrote by

Rabindranath / Nazrul Islam ? Jadu Bhatta
k) Name of the poet of our National authem is

Unit-11
4. Write down the following definitions with example : (any four) 2x4=8
1) Janak that (ii) Tali & Khali (ii1) Baggeyakar (iv) Sanchari (v) Nada
5. Write down the following two tals with Matra, Division and Bols : 2x2=4
1) Jhaptal (i1) Nabatal.
Unit-111
6. Write short notes : 3x2=6
1) Chuturanga (i1) Kheyal
Unit-1V

7. Write the sthayee and Antara of a Drut kheyal of any one of the following Ragas in Hindustani
notation system ?
1) Malkosh (ii) todi.



Model Questoin : 2020-2021

Class-XII Philosophy Full Marks-80
fret-= oifel amm e - 1 1x20=20
I = Teal ize=a: 1x5
y) AN M (A A 54 T —
F) A ) [T o) s (9) Tl

) TN s AT A — @A =0
) T6 () G (91) F 93 24 ToR2 (8) 12 * I W&
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v) AR (@i RISt el ez 2
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53 FRTPF T SR (29GSO SRR SR 2067 & MR ?
vo) fitxs o+ e 9w 230
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S5) ST ST SR AL FA 2
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faett-2 2fs eiraa wiw-2 2x8=16

et emieifera 71Frg Tea wie (401 *Itaa )
[5=i<© AT o NSO 7 ¢
33) F) W T (4) g g wifas 1
3R) AR AT 5 7 2T 8 [T 2
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38) WS uf fovars Sramd 39|
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Model Questoin
Class-XII Philosophy Full Marks-80

Group-A Each Question carries 1 mark : 1x20

A) Choose the correct answer : 1x5
1. According to quantity ‘A’ Proposition is known as

a) Universal (b) Particular (c¢) Affirmative (d) Negative
2. ‘Have No term is —

a) Proposition b) Proposition form (c) Both a & b (d) None of these.
3. Relation of opposition exists between —
a) Two sentences b) Two propositions (¢) Two terms (d) Two words.

4. What type of propositions related contrary oppositions in common square of oppositions is

a) Two particular proposition b) Two universal proposition ¢) One universal and one
particular proposition (d) Two negative proposition.
5. Laws of Sub-altern opposition if ‘O’ proposition is false then ‘E’ proposition is -

a) True (b) False (c) Doubtful (d) None of these.
B) Answer the following Questions in one word or one sentence : 1x15
6. The conversion of proposition which is not possible ?
7. ‘Non’ prefix in which term in an obversion ?
8. What type of obversion is explained by Bain ?
9. The term which determine the figure of a Categorical Syllogism ?
10. ‘FESAPO’- Identify the valid Mood in which figure ?
11. Kinds of part of Syllogism.
12. When the middle term of a Categorical Syllogism remains undistributed in both premises,
then which is the incident of fallacy ?
13. How prepare the prohibition sentence ?
14. What type of Mills Method of Elimination ?
15. Give Symbolic example Method of Agreement.
16. Which fallacy of illicit generalisation on Method of Difference ?
17. What type of proposition is established on scientific induction ?
18. How many are experimental method of Mill’s?
19. How many are number of premises in an immediate inference ?
29. How many are terms of Categorical syllogism ?

Group-B Each Question Carries 2 Mark : 2x8=16

Answer the following questions in 40 words :

21. Transform the following sentences in logical proposition :

1) Men are mortal (i1) Some philosophers are poet.

22. According to quantity how many types of proposition ?

23. What is opposition of Proposition ?

24. Explain two rules of Conversion ?

25. Why is Syllogism regarded as a mediate inference ?

26. What is meant by ‘Mood’ of a Categorical Syllogism ? Give one concrete example.



27. What is the fallacy that occurs due to not practice of the Method of difference? Giva a
concrete example .
28. What is Canons of Elimination ?

Group-C Each Questions Carries 4 Marks 4x5=20

Answer each question within 100 words :
29. If the proposition ‘all man are happy’ is true, then what can be inferred about the truth and
falsity of the following propositions ?

a) All men are non-happy.

b) Some non-happy are not non-men.

¢) Some non-men are happy.

d) No non happy is man.
30. Transform the following sentences into logical form and give the convese and obverse of
each, if possible.

a) Valuable books are rarely need.

b) Orchids are not fragrant.
31. Discuss the nature and characteristics of a Categorical Syllogism.

OR

Prove that : If both premises by particular propositions, no valid conclusion can be drawn in a
categorical syllogism.
32. What do you mean by distribution of terms in a proposition ? Indicate the term distributed
and undistributed in A, E, I and O proposition.
33. Indicate 4 points of difference between Method of Agreement and Method of difference.

Group-D Each Question Carries 6 Marks : 6x4=24

Answer the questions within 150 words :
34. What do mean by Figure of a Categorical Syllogism ? Explain with example its different
kines.
35. Identify the following arguments and test their validity :
a) Rambabu must be happy for he is virtuous and only the virtuous are happy.
b) He is too weak to walk.
OR
Explain with concrete example :
a) Fallacy of Major term.
b) Fallacy of Four term.
36. Define Mill’s method of agreement. Explain with symbolic and concrete example Mill’s
Method of agreement.
37. Test the validity of the following statements :
a) A red flower has no fragnance.
b) The greater the heat, the more quickly does ice melt. So heat is the cause of melting
ice.
OR
The method of difference is a method of proof - Discuss.



MODEL QUESTION
Class - XII : Political Science : Full Marks- 80 : Time -3Hours 15 Min. : 2020-2021
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(5) R @I THET SACHIET TS 27 1970°s.

fTet - ¢ afs ama e - 6 6x3=18

toe sl atsm Tex Seofd *itwra W we
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MODEL QUESTION
Class - XII : Sub - Political Science : Full Marks- 80 :Time -3Hours 15 Min:2020-2021

Group-A Each Questons Carries 1 Mark 1x20=20
i) Answer the following question in a complete sentence : 1x15
1) Whatis ‘Nuclear Deterence’?
2) Mention two reforms introduced by Mikhail Gorbachev in the erstwhile USSR.
3) When was ‘Operation Flood’ started ?
4) When was ‘The Panchasheel Agreement’ signed ?
5) Who is called the ‘Father of Indian Nuclear Science’?
6) What is mea by Cooperative Farming ?
7) ‘the United Nations was not created to take humanity to heaven, but to save it from hell”. Who
said?
8) What was the name of the first non-premanent Chairman of the United Nations ?
9) When was SAFTA introduced amongst the SAARC Countries ?
10) Who is NIEO ?
11) What is World Social Forum ?
12)Mention any one objective of the NITI Aayog ?
13)Whatis ‘DS-4°?
14) Who is the present ‘Dalal Lama’ of Tibet ?
15) When was the United Nations University established and where ?
ii) Select the correct answer from the following : 1x5
16) The NATO was established on )
a) March 3, 1950 (b) April 4, 1949 (c) June 5, 1955 (d) None of these
17) The number of the original or founding member state of the European Unionis _ ?
a) 12 (b) 14 (c) 20 (d)27
18) Which of the following is an observe State of the ASEAN ?
a)China  (b) Canada(c) Papua New Guinea (d) All of these.
19) The Mandal Commission was established in .
a) 1970AD (b) 1979 AD (c) 1980AD (d) 1990AD
20) Who was main architect of the Second Five Year plan in India ?
a) Vallabhbhai Patel (b) P.C. Mahalanobis (c) Jawaharlal Nehru (d) None of them.

Group-B Each Question Carries 2 Marks 2x3=6

Answer the following questions within 40 words :
21) What is ‘Glanost’ ?
22) Mention two recommendations of the State Reorganisation Commission.
23) What is ‘Coup-de-tat’?



Group- C Each Questions Carries S Marks 4x4=16
Answer the following questions within 80 words :
24) The Cold War produced an arms race as well as arms control. What were the reasons for both
these developments ?
*OR
Discuss the consequences of the Cuban Missile Crisis.

25. What is shock Therapy? Discuss the consequences of the Shock Therapy of Russian economy.

1+3
* OR
Discuss India’s relations with Kazakhstan and Turkmenistan. 2+2
26. Briefly analyse the consequences of the Indo-China War in 1962.
*OR
What is UNDP? Mention its three functions.
27. Mention the major recommendations of the Mandal Commissiion.
*OR
Analyse the Sustainable Development Goals.
Group -D Each Question Carried S Marks 5x4 =20
Answer the following questions within 120 words :
28. Discuss the areas of cooperation between India and Bangladesh.
OR
Discuss the main features of the ‘Look-East Policy’ of the Government of India.
29. What are Objectives and the Pllars of the ASEAN Community. 3+2
OR

What was the major thrust of the First Five Year Plan ? In which ways did the Second Pland differ
form the first one ?
30. State the main issue in Indian politics in the period after 1989.
OR
How did the European Countries resolve their post-second World War problem ?
31. Map-based questios : In the supplied map of India identity the places 1-5 related to the

following incidents 5

(1) Where there was on Anti Hindi Agitation in 1965.
(2) State where the Sardar Sariovar Project is present.
(3) State which became of Union Territory-2019.

(4) State where Dandi March began.

(5) Place where Naxal Andolan took place - 1970’s



Group - E Each Questions Carries 6 marks 6x3=18
Answer the following questions within 150 words :
32. What is meant by ‘Bi-polarity’ in IRs? Discuss the reasons responsible for the decline of ‘Bi-
polarity’.
OR
‘NAM has become irrelevant today’. What do you think about the statement? Give reasons to
support your answetr.
33. As acitizen of India how would you support India’s candidature for the permanent membership
of the Security Council ? Justify your proposal.
OR
What is Globalisation ? Discuss the role of technology in Glabalisation.
34. What is ‘Privy Purse ‘? Why did the Government of India abolish it ? 2+4
OR
What is ‘Naxalite Movement’? Mention two causes and two consequences of the ‘Naxalite Move

ment’.

* Additional Questions.



Model Question

Class - XII Psychology Full Marks- 70
frett-= afel arsa ww-1 1x20=20
I) #f3% Teal Dirowa ¢ 1x5

S) I o S RN 9ol e —
(IR el | 9y e {Bewl | < Bom ©g)
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sa) f&=1 (Schema) 2
NG CACRES K
%) (9B STl FICF A 2
20) Autokinetic Effect- €9 I (F ATV FCACRA ?
fera-4 afefd erts= e 2 2x5=10
%) Sg-FmEIE wcell o |
3%) Psychoneuroimmunology @3 3T ICeTEy a3 {5 2
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38) Electro Convulsive Therapy- J#10e 3 (@112
@) SR GFIT! TS F @RI ?
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Model Question

Class - XII Psychology Full Marks- 70
Group-A: Each Questions Carries 1 mark 1x20=20
a) Tick the correct answer : 1x5

1. “Intelligence an aggregate of abilities consideredby . (Psychmutrice approach / Information
processing approach / one factor theory)

2. The literal meaning of personality is derived fromthe ~ word ‘Persona’.
(Greek / Latin / German)

3. Self-Instruction is another important technique of self control. (Yes / No)

4. The blocking of needs and motives by some thing or some one that hinders us from achieving
desired goal is called . (conflict / frustration / strees)

5. People with this delession beleive that they are bing plotted against, spied on, slandered,
threatened, attacked or deliberately victimised. This delussion is called — (Delusion of Persecution
/ delusion reference / delusion of grandeur)

b) Answer the following questions in one word/sentence : 1x15

6. What is Burn out ?

7. Deviance, distress, dysfunction and dangers are common features of definition of abnormality—
What they are collectively often called ?

8. What are the ‘three dosha’s mentioned is the Atharva Veda and Ayurveda tests ?

9. Who proposed the Uni or one factor theory of Intelligence ?

10. What is Aptitude ?

11. Who proposed the personality type of endomorphic, mesomorphic, etomorphic ?

12. What is Strain ?

13. What is the first step of Rational Emotive Therapy (RET)?

14. Who are the profuunder of Gestalt Therapy ?

15. What is Social behaviour ?

16. Who presented the concept of balance ?

17. What is Schema ?

18. What is the meaning of Crowd ?

19. What is Group think ?

20. Who proposed the Auto kinetic Effect ?

Group-B Each Question Carries 2 Marks : 2x5=10

21. Give the definition of self-instruction ?

22. What is the main subject matter of Psycho neuroimmunology ?
23. What do you mean Electro Convulsive Therapy ?

24. Write the symptoms of Obsessive Compulsive disorder ?

25. What do you understand by the word Group Cohessiveness ?

Group-C Each Questions Carries 3 Marks : 3x4=12

26. Discuss about ‘Psychological Test’ used for psychological assessment.
27. How does the Indian notion of ‘self” differ from the Western notion.
* OR
Gvie a brief outlines of Karen Horney’s approach on personality.



28. Write three coping strategies of stress given by Endler and Parker.
* OR
Discuss the personality traits of ‘hardiness’ in stress resistant personality.
29. Distinguis between fromal and informal group.
* OR
What are the benefits of Cooperation ?
Group-D Each Question Carries 4 Marks : 4x4=16

30. “Intellectual activity involves the interdependent functioning of three neurological systems called
the functional units of brain” — Explain with reference to PASS model.

31. How is creativity related to intelligence ?

32. Explain how protective techniques assess personality.

33. Explain the classification of psycho therapy on the basis of chief methods of treatment.

Group-E Each Question Carries 6 Marks : 6x2=12

34. What is Schizophrenia ? Describe the positive and negative symptoms of schizophrenia.
OR
Explain the neuro developmental disorder.
38. Give a definition of attitude. Discuss the elements of attitude.
OR
What are the factors influencing Pro-social behaviour ?

* Extra Questions.



Model Question
Class XII : Sanskrit : 80 Marks : 2020-2021

Group-A : Each Question Carries 1 Marks : 1x20=20
Answe in one word / sentence the following questions :
1. What is the source of the story dat s ?
TR AR T 2
2. What is the name of the son of §%a¥: ?
IR 7jra i & few?
3. Who was the women crying in the night of F@T=dde as mentioned in the story FRaverer?
F L 9NCE ST FFHQRI FMACO IS FIERD (2
4. How many gold coins did Viravara demand from king ?
T AN I F© TN ([0 (GTRRCE 2
5. Who was the king of the capital named 3T+t ?
CeTeIne! ol e ¢ ftetel 2
6. Who was the author of the story §eterer ?
RERERRIKEIFEE N RSN S
7. Who wrote the Mahakavya T5=3m™ ?
T RIFIGO (F Toell A 2
8. How many cantos are there in the T3/ ?
TR -9 T Ao =R |
9. What do you mean by T=7Yd: ?
AFYS: IO F @12
10. Who was sakra as you find in the drama piece ‘TFdR i ?
WA T G Ao =g & 2
11. Who is the author of the epic Ramayana ?
TR AN TS (F2
12. How many &S are there in the Ramayana ?
A 6 FIS AR ?
13. Who was the author of the drama ITIHIRTH?
14. Who was 991 ?
TS (S TR 2
15. Who was the writer of Panchatantram?
AGOFA- T TS (F 2
16. Name two language belonging to 311 group ?
O 2JT5RR OIS U6 SR A Tl 4|
17. What is the full form of MIA ?
MIA &3 21 =i 5 2



18. How many languages are there in the Indo-European Group?
TI-ESRIAR SRITABITS (6 Fh ©>l =itz ?
19. Who created the two major divisions of Indo-European family of languages ?
W BRI ST (& 7o 900 ol FE 2
20. Name two languages belonging to %I group ?
(G 7052 Sr@efe 1t S = fo1 |

Group-B : Each Question Carries 2 Marks : 2x5=10

frfafe i Ter e ¢
21. 9IS %] FeAed Pgd — Who was the king reffered to here ? Whose crying did he hear and
when ?
QT SRS A (2 Tl T, 7 e <R AR ?
22. How did d%&t: spend his remuneration that he received from the king ?
e A PR 20 (T {2 AN O fFolC 31 F00e 2
23, TR TEETA 4 e ifd — Who is 71 2 How did he serve 7?2
A (3 et 2 fofd feeita w97 e[l wearee 2
24. What is the opinion of Karna about the merit of gift ?
ITAR SR 90 FF Sfowrs F 2
25. vfaer FfGeT — Who said this and in what ?
(, (I A0 @2 Tl Frares ?
Group-C : Each Question Carries 5 Marks : 5x3=15

Answer any three of the following questions

NS aeeR Oed vid (@ foa() 2
26. Join the Sandhi (any five) : 1x5
A % ¢ A A5

F) Fad + o (@) MW+3M@ (M g+ (3F) 9% + 59
() g9 +Hifred: () o + a1
27. Account for the case-ending of the following underlined words (any five) : 1x5
o7 @aifers wAvs)fer Teiass el faefa 2 (@ #ivf)
) T AT T |
@) THId JAfd areeh : |
) T SfEA v Rt |
=) G feawre i @refd|
) T g I S|
28. Give the resulting forms (any five) : 1x5
AR feieg 7 o (I @fB)
1) 9T + I i) oM + g ii1) 7 + 31 iv) 9o + 31
V) ST+ Vi) g+ T
29. Substitute single word of the following (any five): 1x5
GFFART A T (A ¢fb)
i) a0 swdfa i) g g fafa



iii) et afq iv) eqq 3=3fd
V) YR 39 STRAT vi) ST =
Group-D : Eeach Question Carries 5 Marks : 5x3=15

Answer the following questions (TToI2#7 &7 7S ) ¢
30. 37 HE9l Areh 7 o 7 Ty —
Where does the line occur ? Who is referred to here by 37 ? Mention the context of this saying?
G A (IR ST 2 S To100 G FICF (RN ZCAR 2 TG 2otent Tl w1 1+1+3
To which original book the piece d¥at a2 belong ? Who was d%at? Why did the speaker want to visit
the king ? What was the name of the king in the story 4%aver=m? Which kingdom was donated by the
king to IR ?
TR R ST (I o TR S 2 7 (7 T=ete 2 ol (& el (rafReet 2 s el 9/t
A A 2 ol TRACH (I A Wi SRR 2
31. Give a short description of the advent of autumn following the piece entitled ‘THifdfas: |
T A 2ITIR ST *IFQ AP SIS =9/ FLTHC SCAG 357 |

OR
Explain with reference to the context : 237e! STaras{3F U1 F7 ¢
T AT el : o TRl T |
o FEehTE JOIETH 39 IS 1|

32) Y& : @ Faats=ad — Who is the speaker here ? How the speaker deprived ‘Shakra’?

QT ITT (T 2 I9! 7 I G0 Ao FRMRE 2

OR

Explain with reference to the context : 297! G2 7S < 7

T T o 7 a0 Fef 5

Group-E : Each Question Carries 5 Marks : 5x2=10

33. Read the following passage carefully and answer in Sanskrit the question given below :

TITH oA AN T AT G3R H 2ve 2i9|TeTR FFTe O&d 716 ¢

3% Q] TR HIqHTe: Jor o i 1R | et ST QST SR dgd ST et Tedr T | AT W S
AT < TR | THIROMIOIE ST e S1ferent | Arqeiesel SHfTaeueRT ST Siia- feRyafafiys=fd | Argafe

SRR
1) H9R T 3tferent gear?
i1) ST 32 F= T
iii) & AT e <8 e
1V) AT 6% feqreafereerenr ?
V) ] HEE 3T Sl feRAa st 2
34) Translate the following English passage into Sanskrit :
TR BTG SHGF AFCS ST 4 2

Swami Vivekananda was a great lover of his country. He sacrificed his life for the people of India.
He was greatly troubled in mind for the country. This young hermit went out for a walk through India.

He was the bravest son of our motherland.



Group-F : Each Question Carries 5 Marks : 5x2=10
35) Discuss in brief the influence of the Ramayana on Indian Society.
SIS AE G SR AN 2SI ST 41|
OR
Write a short note on — 39z |
TG T G(G RIS Bl ferel |
36) How many branches have Indo-European family of languages ? Discuss briefly any two branches
of Indo-European family of languages ?
30w BT SIS T #1242 @RI fS Zow TSRS =t 0 FC ot et 39 |
1+2+2
OR
Write a short note on OIA.
A SRS =Y (OIA) IR Toi 7Fre Bt o2l |
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MODEL QUESTION
Class : XII : Sociology : 80 Marks : 2020-2021

B s eftsm == 1 1x20 20

TSN XA (F HH P 2

T) G G ST (4) TR o7 (o) R@ 15 () A
T DR MG G0 @ S G0 (] 7o IR OF ————— T |
3) AW (1) AFETIM (91) SIfSTORT (7) @FICAGIE 97 |
OBC- Il *=f5 5 2
TR ST G0 SHIRF 7S 2
CITONGN FOI0 (P ST T 2
(I A MR 95+ =2 (TR ©iEre) 2
G SIS TN I I 2
ARGIOTFACT IF SNl 7S |
e 52
w3 slersifems IS [ 7o 2202
IO FMRLICTT FBfTe! & 2
IRDP-&3 %G1 1% & 2
(R T A R ol 222
@ P G S ey AfSDITTT 7 767 2
(I AN SIS TRIFTACIT NS SR TS *F T 2
@~ PR siey, G =231 S FAERS 41, T NS 36 STz @R AE A F9-[a7
=4 I O ————— |
(Rrdiaet / qifefeniead / fefebegre=s / soroms) |
R AT G5 9 STErtRiey Siehg i e 2
SR (@ (I G0 Ao KGR I o< |
(I AN A TR &) ARl Gl aif sfpai 23|
i) 1959 ii) 1979 iii) 1989 iv) 1999

freta-4 2fsi erta i -2 2x9=19

|

ANife e & ¢
R

ORI Lo SAMITR I fo72! |

33| AR BT ROIGR qUo! @G e 41 |

SRR
Sl {2

RO | FRAIETY oo [ g2
38 | FICATS 2fFade Aferce & e 2
R | SR-FRFORA e F e
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NRE
SR YUB! CIMT0) Sare A1 2
vl iR ! (NP Sviege e 2
NCRE
AGITTS! IR (IR G IS 2 51 27 |
24 SATSel TSR LO! (AEG7 STardl I 2
S | e siie Jfece i @iRe
5| iz Jferrs 5 @i e
At
sl JfeTee {5 a2

fTetar-a 2fs arrsa = -4 4x6=24

oo IR LI G A QIO Bl Fl 2
NCRE
SRS NS AN G AT a1 3 74 9T 47 |
oy ISR AR 2 T R 2
At
ANE IRH [ 2 916 CHizF AR A 7 |
CRY SRS (1 @@= o R Reas= w1 2302
oo o pi-atelie MeTE Ty SR qcEa gl & 2
o8 | YRR ARG Srard A |
NCRE
ARG JeTC0 (3 (IR 2
el IGITHCST WO IR Tl e IR 2
NCRE
AP TR ARG 2)feT Srard Il |

et 2fsfG eirsa wie- 6 6x3=18

oY | 2Tl TS ARS8 THACH ST AT F< e it o714t |
4!
AN SIfS =115 (5 B FCATRA 2 SNfisfey i Sotmisfer 6 & 2
01| ORI SRR PO AT TS 20lfe AR 2
ot | SIS AANCEH G AT ARSI 90T 4Tl 2
4!
PRI ST GIIRIZH (RICTR 2elR S A |
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Model Question
Class - XII : Sociology : 80 Marks : 2020-2021

Group-A Each Questions Carris 1 Mark : 1x20 =20

1. Who Coined the term Sanstcritiyation ?
a) M. N. Srinivas b) Sri Naraya Guru  ¢) Sabitri Bai Phula d) Ayankali

2. The thought by which one state captured the other state is call

a) Colonalism  b) Imperialism c¢) Nationalism  d) None of the above.
What is the full form of OBC ?
Mention one example of women’s movement.
Bharatnatyam dance belong to which state ?
The tribes Khasi, Garo and Jayantia belong to which state ?
In which year industrializatio started ?
Mention the name of one Metropolitant city in India ?
. Give one example of the westernization?
10. What do you mean by secularism ?

00N L AW

11. What is known as three tire democratic system ?
12. Who is the founding father of Indian Constitution ?
13. What is the full form of IRDP ?
14. In which year Green revolution stated ?
15. Mention any name of heavy industry ?
16. In which year liberalization started in India.
17. The commodity seruice or anything which can be transform and have economic value and also
have the exchange value is called .
a) Decentralization b) Commercialization c) Digitialization d) Westernization.
18. Write the name of any productivity of Tripura that help in the globalization ?
19. Mention any name of popular electronic media .
20. In which year TV system was introduced for the development of village in the experimental
basis?
a) 1959 b) 1979 c¢) 1989 d) 1999

Group-B Each Questions Carries 2 Marks 2x9=18

21. What is Social inequality ?
OR
Mention two properties of sanstricitization.
22. Mention two features of social stratification.
OR
What is untouchability ?
23. What is meant by minority ?
24. What is structural change ?
25. What is de-sanskritiyation ?
26. Give two example of pressure groups.
OR
In which year and state Panchayati Raj started first ?
27. Mention any two features of rural society.
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28. What is industrial society ?
29. What do you mean by Globalization ?
OR
What is Mass Media.

Group-C Each Question Carries 4 Marks : 4x6=24

30. Discuss in brief the role of hierarchy and seperation in caste system.
OR
Examine the relation between continuity and change in Indian Society.
31. What are the main problems of tribe in present day society ?
OR
What is social exclusion ? Discuss with suitable example. (2+2=4)
32. Why India is regarded as diversified country ?
33. What is the role of colonial state for the owners of british tea gardens ?
34. Mention the features of Moderrization.
OR
What is Westernization ?
35. Mention the powers and duties of Panchayati Raj System.
OR
Mention the features of political party.

Group-D Each Questions Carries 6 Marks : 6x3=18

36. Write a short note on social change and development in rural society.
OR
Who coined the term Dominant caste? What are the properties of dominancy ?
37. Discuss the impact of liberalization onthe employment pattern in India Society.
38. Discuss the impact of Globalization on Indian Society.
OR
Discuss the impact of mobile phone on students.
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MODEL QUESTION
Class - XII : Statistics : Time -3h 15m : Marks- 80 : 2020-2021

Group -A: Each Question Carries 1 Mark : 1x20=20

1) What is measured by correlation coefficient ?

2) What is random variable ?

3) Give the interpretation of cov (x,y).

4)if Xxy=0, then XandYare  if X andY takes two values 0,1 with positive probalities.

5) Give the limits of correlation coefficient.

6) if X is a random variable and f(x) is an increasing function, than f(x) is a

7) What is sample space ?

8) Write the Pmf of poisson distribution.

9) Write the number of parameters of a Binomial distribution.

10) Who discovered poisson distribution?

11) What is rank correlation ?

12) Is it true that a correlation coefficient of 7 =0.8 indicate a relationship twice as close as Y =0.4?

13) What is unbaised statistic ?

14) if ¥ =0.5 then can we say that 50% of the data are explained ?

15) What is random experiment ?

16) Going to moon and then finding out if there is life. Is it a randon experiment ?

17) What is the coefficient of rank correlation if ranks of X and Y are the same ?

18) Define mutually exclusive events.

19) What is the probability of an impossible event ?

20) What is the probability of a sure event ?
Group-B : Each Question Carries 2 Marks : 2x5=10

21) For any two random variable X and Y. Cov (X,Y)=3, Find the value of Cov (5x+4,Y)

22) Write down two characteristics of the Normal distribution.

23) If X is a random variable then show that v(ax+b) = a’v(x)

24) Find the mean of a poisson distribution with parameter.

25. Show that the degree of linear asociationship between two variables cannot exceed +1.
Group-C : Each Question Carries 3 3x5=15

26. If v(x)=9, v(y) 4 and v(x—y)=v(x), find the correlation coefficient between x and y.

27. An urn contains 4 tickets numbered 1,2,3,4 and another contains 6 ticket numbered 2,4,6,7,8,9.

If one of the two urns is chosen at random and a ticket is drawn at random from the chosen urn find

the probabilities that the ticket drawn bears the number 2 or 4.

28. State and prove Bayes theorem.

o | L

3 5 3
29. If A and B be two events such that P(A) = 1 and P (B) = 3 show that g < P(AnB) <

30. T is an unbaised estimator of @ show that /7 is a baised estimator of /g



Group-D : Each Questions Carries 5 Marks : 5x5=25
51, Show that ;oo =108 =D+ Jlog (=3 e
32. Obtain the angle between two regression lines.
33. Obtain the median of Normal distribution with parameter # and 52.
34. For any two events A and B show that
P(ANB)<P(A)< P(AUB)< P(A)+ P(B) 2+4
35. X, X, and X, are a random sample of size 3 from a population with mean 4 and variance & .

T, T,, T, are the three estimators used to estimate mean vaule £ where,
1
T, =x+x,=x, T,=2x +3x-4x,, T, = 3 (AX,TX,+X,)

i) Are T, and T, unbaised estimators ?
ii) Find the value of 4 such that T, is unbaised estimator for 4. 2+3
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